Berl #HREPAO~P53 i NO.3

(e8]l

HFAEBEES LT 5L, BFBIE(20—xEESZLicasnd
200 + 100(20 — x) + 120 < 3000

880

Yot <30 g5
CREMETRAOEITS, LT, BT A MEATSHE 5.
[ 39]]
EHMOY % xm EF% &, H<ED Y IH40— 0 m k2B 55

X 2400—x

0t 60 =0
Yot £21000

538150 m THEDIEO Y % 1000 m LLEIZ LT huiEze beun,

(1) x=+4 2 —2<x<2 () x=<-5, 5=«
[ 41]
1) [3z—4]=2 @ |x—2<3 B 12x4+1>1
3x—4=+2 —3<x—2<3 20+1< -1, 1<2x+1
r=2, % _1<x<5 x<—1, 0<x
L1
1) 1] x=30Lx 2] z<3DL &
x—3=>5x —x+3="5x
e o=l
T4 )
ZhIF a3 EE SR, S 2 <3 FT,
1], 21525, K> BEE x=%
2 1] x=-20rx 2] z<—-20 L%
x+2>3x —x—2>3x
1
x<1 x<_§
M & odEmFEIIE —2<x<1 Felk & oIEFEAIT 1< -2
1], 2], R DHETEDEHMHERDT
x<1
3) 1] z=20&x 2] x<2DLx
x—2<2x—1 —x+2<2x—1
x> -1 x>1
Gk E OB x=2 Felk & OIBREAIT 1<x<2

(1), 2155, R BAUTADETHIAROT

x>1

3@ @ VZsQ B —5e@

1) F=({1, 2, 3, 6, 9, 18) @ G=(-2 -1, 0, 1, 2)

(3 H=[1, 3,5 7, - }

(1) BcA 2 A=C 3) AcD

2 (U, (2, 3 (L 2 (L3 (2 3 (L2 3

(1) AnB={5, 15} AuB={1, 3, 5, 7, 9, 10, 11, 13, 15}
(20 AnB={x| —1<x=2, z13FEH) AUB={r| —2=<x<3, xI13FE%)

ANBNC=(3, 5} AUBUC={1, 2, 3, 4, 5, 7, 11}

ANBNnC=(l1, 2, 3, 6} AUBUC=({1, 2, 3, 4, 5, 6, 7, 9, 12, 18}

={1, 4, 6, 8, 9 ={1, 2, 6, 7, 8 9

=
I

=

&

o

=

29 L R e

FADKTHLNPE 20 o ©)
R AT 5 L x>—4 e @
O, @n6H —4<x<0

23S THDENL x=—1, =2, =3

[R5
KRR IGEOVYY 1 KD 7 ) —=v 7 RIZ209HTHEDOT
TERICY Yy Y Z x 7V —=v 7T 5L, KNS

1000 +209x < 220
1000
x>T—90.9---

InE TR N O AREIT I Th D, B 9l#LlL
[F/E16
(1) x—5<4x+275 x>—% ------ ©)
nggx"'l_;m\g PR ®

2 4

(ORFONY] —%<x§l
(2) 2x+3>x+215 x> —1 -oooe ®

3x>4x4+2006 x< =2 oo ®@

@© & @ o IEBEEPAIL VN D, fRITAR,
(3) 5x—8=Tx—216 x=<-3 - ©)

2x+6=3x+9 75 =3 e @)

OL®&y x=-3
@) L‘gggg_,ﬂfj\g xz—% ...... 0)

A>B>Cix
2—x>£x+£7)w} x<—2 ------ ® A>B
2 3 3 THEXD
3 9 B>C

©EO@ LY —z<x<—§
[HE17
1) [3x—2/=10 2) |2x+5/>1

3x—2=+10 2x+5< -1 F7iE 1<2x+5

x=4, _% x< =3, —2<«x
(3) |bx—3I<12

—12<5x—-3<12

—%§x§3




Herl BERGEPAO~P53  [IEAE NO.4

25le=3| 25 251, 55x e o () HR=2224@y+Dx+(y—D(3+3) (@ BHr=(x+2y)’—5z(x+2y)—62°
lx=3|<5 225 —2<a<8 e © =(x+y—1)2x+y+3) =(x+2y+2)(x+2y—62)
(ORNOB) —2<x<1, 55x<8

@) HR=x"+Q2y+22)2+(y—2)y+32) |EEHX=(x+y+2)—42°
[ 1] =(x+y—2z)x+y+3z) =(x+y+z+22)x+y+2—-22)
(1) x*—(a+b+c)x’+(ab+bc+ca)x—abe  (2) x'—8x°+19x>—12x =(x4+y+32)(x+y—2)
(3) x'—8x*—x"+68x+60 (4) x%—32x"+256 TR Eo]

(x+y+2° =224y 4+ 22+ 2xy+2y2+ 222 LV
224y 42l =(x+ y+2)—2xy+ yz + 2%)

1) (2x+2y+1)(3x+3y—2) 2) (x+y—2)3x—2y+22) =22-2.(—1)=6
(3) Hhi=(x—y>—2x—1y—8 4) HHA=2x+y +3x+y—9 BRG]
=(x—y+2)(x—y—4) =(x+y+3)2x+2y—3)

1) (2®+1)2=x"'+24241

[ 1535 P 3 |
1) V=17 =|z—1]
=1l E, |x—1=x—1ThHoH1n5
Jx=1)t=x-1
<1l X, [x=1=—(x—1) THIHINH 1) BR=(14 ) — (=247

12 = (x—1)=—
V=) =—(-l)=-z+1 @ Bao_ 1+VZ=y3 14423 _2+V2-6
(1+v2 +3)1+v2 —/3) 22 4

2 24ai4+1=(x'42224+1)— 22 =(2241)2— 22
=(x?+x+1)(x*—2+1)

2) V2P +2x4+1 —/x*=2x+1 =/(x+1)? —/(x—1)?

=lx+1—]x—1 R E L2
—1<x<1lo e, |x+1l=x2+1, [x=1=—(x—1) THDHINMH J3 41 2T
22420 +1 — /2?2241 =(x+ 1) +(x—1)=2x J3 -1
1</3<2Thohb  3<24+4/3 <4
[ 2 [ 4 | Dzl a=3
) .. _ g
O xt+i=3 @ wt+ho(rlf ozl £ b=@+V3)-a=v3-1
* x * * EoT  a=3, b=3-1
&) x-%:g_z“/g —%=—ﬁ (= 13
. ) ) 1] 2<0DEx —x—2Ax—2)=x+2
LT 2——:( 7>< —7>:—3 5
SRl Gy | C a x:% UL, x<0 B S 20,

2] 0=x<2DE % x—2x—2)=x+2
x=1 i, 0Sx<2 B2,

3] 25xDL & x+2(x—2)=x+2
x=3 i, 2 x A2,

1]~ [3] b, KDdDHME  x=1, 3

-1
1-V2 <0 Th Bk,
V2 <0 THHME x<1_ﬁ
2<A2 +1 e 0} [ R 14
[22+11<6 75 —6<22+1<6 1) [2x-3=anb —a=2r—3=a
7 5 —a+3 _ _a+3
E<Z<E """ @ == 9
(ORI —%<x<ﬁ+1 ) .
@ a=torE, QORE —5Srsy
CRERETER 2130, 1, 2, 30 41
M) 1] a>00rx WOEEOKaTH-T  x2o . s .
“ B DOMFDEY -gsrsT+y

2] a=00E & Bz bl A% 0-023 L7220, T,

b B b 3 a
8] a<0OLr% [REAOHK e CHoT Jé% BT 5 A ORAS 6 HE FNIITRVOT, 455 +5 <5
@ BEFBL (a—dr<2Aa—4) 55a<7
1] a—d4>0 T7bb a>4pex x<2
[2] a—d=0 F72bbH a=d DL EGZLRFFERL 0-2<2-0 L7, FRIEARL © O A 2 THS & x—%‘g%
8] a—4<0 F7ebb a<d DL X x>2 ]

ZoANB Y, O O EER ET

[ 835 P 7 | Db,
(1) a’+b*—c?®—d*+2ab—2cd (2) 4ab+4ac

5 OB % UFTHLERTHS LN




